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PAPER - 11
Type text here (English & Telugu Versions)

| 362632
o
: ; ; =
Time : 150 Minutes o Max. Marks : 150
Saoohan ¢ 150 SQsisoes : 3 L Sdo Srtoes: 150

OGsases (Instructions in English — Next Page)

1. % S50 150 (36052, 350 A (Indian and AP Economy) &°175 B¥eo, B¥5 B (Science and
Technology) &° 75 S8eosd. (50 (5§50 1 55760, Teronoiieasd. (8 Sy SSrgrarl 1/3 Srdy,
BoEo BthrHBood. _

2. (% S8 ey EHe $0BosndsS 85 SrRITIIBM. @ JESN ), OMR $5res
338" D DB SussT o0 Pssws® STV Jotd BiSB58%. OMR sirees £
$85008° Botss Theo Ko, T DEBALEEH. astsed HEE® eI Kotigen Boss 508" e |
5o, 33 55 (28856 D APPSC Sarersosiso S0 So2ouom 500100 Botks 57 (Sse) |
egsQ BRBHIEY. '

3. & ok, Registered Number (58 5500 D grsnos’ raibsd. ss 5 £ 39  Sured’ 3%
S0 oy, S (Series) @) 2 0 B) w2 2 (©) 62 0 (B) 2 D SoBosedss.
SRS BB S0 L5633 3 (Side-1) $8 D arN6® 3§ € Sots> HHBBB Bask) 55005
sroossnss (B) @ ©) ) e o, D 5% S Gl M S SEid S0
s /a8 wromaned i’ e osiBn. 86 Bines/biE) SRARRoLIRESS.

OMR S5mGRs 3508’ 559 i Gl Sgkass Do Derisse :
& : Do (5% B0 ok, S0 A WSS Be G0t Er one ST,
= e®00®
5 354 33500 R, sisesss WIS S@snd Side-1, Part-C & 50m 0o uson 88 %)
50 Sk POySHTS DessTie Dediom am, bt dusserd Filin wb Janiserd
NS Hsn $OKAeeEss (Invalidated). B8 dexsiiond FTEE}BBBIL0 RWILED.
4. 85900 (Invigilator) mm-'om B Sio D TSNS 08800 Fosd” Jornsi.
e SuSEed 30880 OMR S5 Biio8” B5fonssS ef SOleloniin.
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5. (5% S50 oA Soridabnd Beolh ra6™ S Sabadse. SArErS KB 580D
DASHED qofiss (%) S @raredsoon SRS Sacso.

6. (99 D ool BHIETERie e, et BOAHI SEFETE: RRER, A0 OMR SSes
S8 Beranoserdis $E5008" &5 HEED e JoNIBD. LETUETY JO HBSves
DeDST, e ST HOKeIoWessly, B IO 8 Vo ar/ers eronowoes 2y
TS0, WBIIERY So0Se Be HHEe DEYEPEs. OMR SRS $gcd” 2o SIreras Srgmdd
H56/8E 525/ 5 il Boe DTS Bsgerens S05e0 T 20 BITES Io BoNetoSeEs.

GO : 25003 %) o), eren (2) Loy, TR S Bod S0 HHGousB.

1HO|@D|®

7. SodiseromD, oo md, Ases Ao R, 26 Sabe ) Sor DG 8P 36, w0 ST D
OMR 55574 Siifo S0e3ouetts.

8. SIPGRHBOK PHRDEGS0 D 1HGeSTEs, IV edEN0IST Yo SoNcloNni:Eid.

9. 8 553 (3% DB D30 S 3> Sard. 33 e Jawod.

10. SdEertsy, SrsesBoe3sd /eorh Swody, 3uBE Py, wTerS 3 RgBo0es) B06BS 2 S
do gl B05cess 36 FerdIE BTVICEFE. & DS K080l SHA &@B owdd
Sedofine BoKeSoD 5B3Bo $5¢5 BroSueso. 8

11. G.O. Ms. No. 385, GA (Ser.A) Dept,, dt: 18/10/2016 "o, 2 e wowa® Dedofi /s
Fo5er>5D) SO HAHBCISEB T eHBTKS0 (Do T) B000ks LIS KB
oD -

12. 38y Fend’ egiten 385 30 ey 505 (2% foteo) eodsBs. D egif md 385 368" 3¢
BORBOE S ALK POE.

13, 258§ SFoodd SO0 Ui, g 85 2025S OMR SSTGrs SBoss (D00 L) X &)
2535008 (Invigilator) 39y, Socs OMR SIFERS IBesio (35e0) SRED Iy, 2.0838
OMR 53767 SB35 S8R 3PPty Sxvore SoKeIoweE..

INSTRUCTIONS

1. The Question Paper contains 150 questions. Section A (Indian and AP Economy) has 75 questions,
Section B (Science and Technology) has 75 questions. Each question carries 1 mark. For each
‘wrong answer 1/3* mark will be deducted.

2. Please check the Question Paper and ensure that it contains all the questions. If you find any
defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in Duplicate. Do not separate the copies. The markings on the first page
will automatically come on the second copy also. The first copy (Original) will be retained by
APPSC for evaluation and the second copy can be taken by the candidate.
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Write your Registered Number at the top of the Question Paper. On the right hand corner of
the first page, the Question Paper Series is printed as (A) or (B) or © or @ On the OMR
Answer Sheet, Side-1 at the right top corner at Part C, the Question Paper Series are marked
as ® © @ Darken the appropriate circle, as per your Question Paper Series with
Blue/Black Ball point pen. Gel pens/pencils are not allowed.

Example to fill up the Question Paper Series on the OMR Answer Sheet
If your Question Paper Series is A, please fill as shown below :

O®OD®

If you have not marked the Question Paper Series on the OMR Answer Sheet Side 1 at Part C,
or marked in a way that it leads to discrepancy in determining the exact Question Paper Series,
then, your Answer Sheet will be invalidated without any further notice. No correspondence
will be entertained in the matter.

Please get the signature of the Invigilator affixed in the space provided at the top of the
OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated.

. The Question Paper is set in English and translated into Telugu language. The English version

will be considered as the authentic version for valuation purpose.

Each question is followed by 4 answer choices. Of these, you have to carefully select one
correct answer and mark it on the OMR Answer Sheet by darkening the appropriate circle for
the question. If more than one circle is darkened, the answer will not be valued at all. Use Blue
or Black Ball point pen to make thick mark to fill the circle completely. Make no other stains
or marks. Using Whitener/Blade/Eraser/Chalk Powder or any kind of tampering to change
the answers on OMR Answer Sheet will lead to invalidation.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

O |@O|®
Do not fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

Do not mark answer choices on the Question Paper. Violation of this will be viewed
seriously.

Rough work may be done on the last page of the Question Paper only. It should not be done
anywhere else.

Any type of Electronic Devices such as Calculators, Mathematical/Log Tables, Mobile Phones,
Bluetooth instruments etc., should not be brought into the Examination Hall. If found in
possession of such devices, it will be considered as cheating and strict action taken.

As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use
any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2%2 Hours. No
candidate shall be allowed to leave the Hall in the middle of the examination under any
circumstances.

_ Before leaving the examination hall, the candidate should hand over the Original OMR Answer

Sheet (top sheet) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.
Taking away the Original OMR sheet is a punishable offence.
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SECTION -A
INDIAN AND AP ECONOMY

1. What is/are the goal(s) of SEBI’'s new move to introduce T+0 settlement ?
I. To enhance liquidity and reduce settlement risk in the stock market. El%’ﬁﬂ
H. To minimize counter party risk and enhance market efficiency. E]
III. Potentially reduce the impact of market volatility on settlement.
IV. To increase operational expenses for market participants.
ey L (2) 1, I only
(3) L IL III only (4) All the above
SEBI €& @33%3)@.;.6 T+0 263820085 @ooly P 550 AW ?
L (988ed) (5555080 Doustso 50010 P 575)e56° (Re38Ro0eS 6 50T SIrey Bfocso.
I 88 oTddED 388 T8 (Totoyf) EITo) Sfodtio Sbaks Srdes Truogyd) oo,

I S8BoD S0 e Perrd) SogrsorT SRoSES. ) EE
IV. 50585 grAngsoostd (QRudoty) SP07gistes PR Dosko. Eﬁ
(1) 15785 @) 1, 1 5o

(3) L IL, I 53 (4) 25

2. In the Union Budget 2024-25, the GOI has promised funds to the following industrial nodes as
part of the development of the Vishakhapatnam-Chennai and Bangalore-Hyderabad industrial

corridors
(1) Kopparthi and Orvakal (2) Chittoor and Donakonda
( rvak nakonda (4) Kopparthi and Chittoor

o5 03es 2024-25 &, Drpsseno-3) HOa BoMto-TETers FOFDE ET (SOTY)
SBHDS" P10 D POFIE TEOK, GPSH HEOS0 LY Moo PedOD 2 BISE

) ?‘:;&q B0 £O15S (2) DETL SBAIETSET oS Bt
(3) L6555 s0BaK0 F3E ok (4) T30 5o8cite IBZE

3. Which Article of the Indian Constitution empowers the Central Government to extend loans
to State Governments ?

{1) Article 292 (2) Article 293 (3) Article294 . (4) Article 295
So(lS (0TS OUR ST oeres Sooamd 3D vT e 2,}‘62‘3::323"50?5065:3 S ©fsSe0
=3y &0 ?

(1) 856292 (2) 058 293 (3) «gs6294 . (4) 55295

4 D)
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4. Match the following irrigation projects (List - I) with the rivers on which they are located
(List — IT). (Common codes for English and Telugu Ve‘ﬁons)

List -1 E¥E List -1 %’
a. Somasila reservoir BIERE i Cheyyerug_
b. Thotapally project ii. Penna
c. Annamayya project iii, Manneru
d. Rallapadu iv. Nagavali
€08 3D Batse @BEReD (wder 1) eld mm@o%spmﬁ (B - 1) 500,
doe -1 Y do ~ 11%%
a. Fsolo BuoaoE  EIE i Byt ¢
b. &exsd 85 T g
c. wboaty 8§ i, S0%%
d. ogdeee iv. o9
Codes/S*&eo: a b c d
(1) i il iti iv

(2) 1 iv il

il

T N

iii

4) i v iii

i

5. Which of the following measures is NOT typically used to correct a disequilibrium in the

Balance of Payments (BOP) ?
{1) Devaluation of currency

(2) Increasing import tariffs

ey

(4) Encouraging Foreign Direct Investment (FDI)
3o e85y (BOP) & eissosoogsi S6300a08 §od Tedé” 20 grdeon

SBBTAOBLESS ?
(1) 530 Denss SAOD
(2) BIrHIS oostes dodke

(3) Reducing government spending on domestic projects

kA
i 5

=]

.
Tt

A,

(3) B3 @«as& g@% % Bhosto

M e |

(4) D3B8 pSsK Deyexhoss (FDI) @eyrosto

5 (D)
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6. How does the introduction of the Standing Deposit Facility (SD? ) enhance the Reserve Bank
of India’s (RBI) liquidity management framework ?

1) By increasing the overall liquidity in the banking s

(2) By absorbing surplus liquidity without the need for collateral
y keeping the cost of liquidity for commercial banks constant

(4) By providing long-term loans to banks at lower interest rates

Jodoh &S 22063 {SDF) 3 degaaiero grEBak e wrsos (RBI) (€535 o8k Aocres

mm Aoyeses (B8;&ed fﬁ:wmoes @055} ) S LK ? E}_}f@,
(1 Jéoéoﬁ :agsg Boogo @:);35 u‘epiej&io (&éﬁmﬁ) plotnlelo} cs&_ L‘Jﬁ

(2) (5:50R8) P/ ééar (collateral) es5:36c 850" w:‘ben daf&ﬁ%u Paroito orgo l
(3) mﬂes§ 83“‘?505‘& o 5«..;8 Q;&.J&ﬁu PO GOWD g0
(4) ergotns S5 “\& Besto BysdE thoerorio voBoibto @5@

7. Assertion (A) : In Andhra Pradesh, the coverage of farmers under Pradhan Mantri Fasal Bima
Yojana has been increasing over the years.

Reason (R) : In Andhra Pradesh, significant crop losses occurred to farmers due to extreme weather
events in recent years including floods, droughts and cytloncs E[::-‘Ej

(1) (A)is true, but (R) is false [,:,1

(2) (A) is false, but (R) is true

(3) Both (A) and (R) are true, but (R) is not the correct cxpﬁnanon of (A)

4) Both {A) and (R) are true and (R) is the correct explanation of (A)

TS (A) : SoERBES” Brrso® ¥8 Dur Eress ot 3svo 5338 KoSSTeT ENOET
E¥E] 30D,
E-]f& 530 (R) : SoSB68" 5359 50380708 S50, KEoDe 5000 BoPrive Sod DSbE TErste
ROF0TO SCEI0T DL mbcmsm Boto e BogoTOW.
(1) (A) deo, 50 (R) By ;
(2) (A) 83y, 52 (R) Jeo

(4) (A) 508050 (R) Bo&r Deso, ;3.6053., (R) 36 (A}wg; %85 D550

8. Which among the following statements is correct ?
(1) Balance of payments includes current account and capital account
%WW
(3) Balance of payments includes only current account
(4) Balance of payments includes only export and import accoum
s (800 5SS’ DO K836 ?
(1) 0D ers8Hod” £8otS grer oDk Sorelss o wwea?m
m rogs Po Sy doed
(3) 3o rBSE" $BoeS groe S dotod £ -
(4) 3D 8?555‘3655 DS08 S5080%0 BSS PP SoMER0 &otwod
6 (D)
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9.

10.

1L

12.

India’s rank in World Bank’s Logistic Performance Index.in
(1) 15 (2) 27 (3) 38 " 4 49

2023 & (5508 ergof 505 e BB WO (T

“30:63‘53 q088y) & groudio o5k E']_y@

(4) 49 G

Which of the following is not correct regarding the railway project under Central Assistance
approved by the Union Cabinet for Amaravati in Andhra Pradesh ?

(1) The proposed railway line is between Errupalem and Nambur

(2) The cost of the project is Rs. 2,245 crores for 57 km

(3) The line passes through NTR and Guntur Districts E}Andhra Pradesh and Khammam
District in Tel angana

™

(4) The proposed time line of the project is 6 years

SOERBEE"D 300758 §50 Sois Bro@iso eRTB0DS 3:5{_85 250 @ois BS; B Homofod
5 (800 T35 0 B3 (S S ?

(1) 808 88 §5 BoFBo 000K Soarth B¢ &od
(2) Be B S5ab0 57 SE LD & 2,245 Se
(3) & B8 85 exoRBEE D Mesd B Koot &

D Qoo o8 Boored s Pisxyo
2 ook 3Bl

o
(4) TBL HATOS 5°eHR0WB 6 @o&’si’g

Which among the following classifications of unemplayment is predominantly correlated
with the agricultural sector ?

(1) Cyclical unemployment l (2) Seasonal unemployment

(3) Structural unemployment (4) Frictional unemployment

E]b'u

Do5rio ok, o $3556mes” DB Eersor Ssdrab Sonol Sowogio DA God ? g‘g
(1) Sdan wa,és‘ém ) Soloe JRb §io
(3) DoyErEs Ao e 510

Which is not a correct statement regarding Rytu Bazaargm Andhra Pradesh ?
1) Rytu Bazaars were established in the vear 1999 -~
2) District Collector is the Co-ordinating officer of Ryfu Bazaars
(3) Rytu Bazaar is managed by an Estate Officer
(4) The prices in Rytu Bazaar are fixed aiming to be around 25% above wholesale prices and
25% below the local retail prices
SOGHBES'D Dtk werg dowodod Bod T3E B K)Bﬁm s°E0. tu}biﬁ}
(1) B& wertid 1999«55% OSRIGO% ﬁ

D i

(2) Beo 2erd DA w@:@& B §6§§

(3) B> 2o ,,3‘33?3 ©85°0 BT

(4) 6@: 2660 o0 5% $80 Ko 25% 595 :)0365;) TS 03 G K08 25% BB
GoB eg08 Dganosaieran

7 (D)
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13. As per the Budget estimates of 2024-25, the percentage of public debt in the GSDP of -

Andhra Pradesh in ’;l.m_'s.ﬁsiimated as ¢
(1) 31.46% (2) 34.14% (3) 33.71% 4) 32.60%

SOESEAT Fed 2024-25 (5°50, 2024-25 &9 SoBB TS’ co@@éﬁé GSDP Eghds Soe 8o
F WOST® IARECE

(1) 31.46% r (2) 34.14% (3) 33.71% 4) 32.60%
14. Which of the following mechanisms is NOT primarily followed by the Reserve Bank of
India (RBI) to manage exchange rate volatility ? g}g’@
»,
(1) Fiscal Policy Adjustments e

{2) Foreign Exchange Reserves
(3) Market Intervention
(4) Liberalized Exchange Rate Management System

$00 TTos 510G Dew eROBN STgrotES Besbg 508 wf gocal (RBI) ggrasor B
2530300050 ? E’y.

15.

16.

’3! GDP at Low Ericcs o High prices

(1) esgs Do Segere ) B

(2) BB 30708 Vg
(3) 5585 550
(4) SOV SrEED Texd AWgiTer 3G

Chadalawada village where a Cattle Breeding farm is established underGokul Gram Project under
Rashtriya Gokula Mission belongs to which District ?

F A T ey

(1) Guntur (2) Prakasam (3) Nellore (4) Srikakulam

Rt Koo SE A8 (el 8§ Bots 3 &5, §do (§e3S BAoR 750) Doyt Jaads
S 00 BT Do ?
(1) Kootxred (2) @sdo (3) 3oz = (@) Bsnvo

GDP deflator is the most comprehensive measure of inflation as it 1§ the ratio of
(1) GDP at National prices to Local prices
(2) Real GDP to Nominal GDP

(4) GDP at Current prices to Constant prices

GDP @365 638 308 3 25,8 £50¥ 08 (oo Gl eties mm::s Toss Qg
(1) B G560 3¢ Sobake D S8 3¢ GDP & =
(2) 755 GDP & 5080k 3505 GDP &

(3) B85 &S0 3565 500 SO G 3¢ GDP & N

(4) B8 §bo 3§ Sobako ?gcﬁoa’) &S0 3¢ GDP 8

8 (D)
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17. Match the following minerals (List — I) with the erstwhile districts (List — II) where they are
predominantly available. (Common codes for English and Tel Versions)

List - Ve List 11 +
a. Apatite ik i. West Godavari
b. Asbestos ii. Nellore a5
¢. Ball Clay iii. Visakhapatnam .
d. Mica iv. Kadapa
208 pleres (2her — 1) e Eesor ofod 8 gred (2rdoe - 1) $0Fe0c.
it R | EYE o -1
a €535 Eed i. 38y Noesd
b. &R i il. Sero
C. a}“éé ii. g}i"%}ﬁ@&(}
d. o iv. 650
Codes/S*&es : a b c d
(1) iil v 1 1
2) ™ P
(3) i i it iv
4) i i v ifi

18. Which principal methodology is employed by the National Statistical Office (NSO) as the
standard mechamsm for assessing and quantifying the anemploﬁsmem rate within the Indian
economy ?

(1) Quarterly Employment Survey (QES)
(2) Annual Economic Survey

lovment-Unemployment Survey
(4) Periodic Labour Force Survey (PLFS)

G5 a8 ;sg:;:géi‘ DB GHS o> SoBT ALERE S0 BYESERE wdah Hewol
ogeaho (NSO) 2 (567 wcge.'m FrSreds aogrolion e‘e;’adi:“ﬁwo@ ?

(1) Baodgea>rd 03; (356°53) (QES)
{2} ;r&aé u@g ,0635

S D85 58¢ ,:?
(4) %0airaS Beb 26y 53; (PLFS) (xSoBrI8 s ¥8 wﬁé@
acturing Policy (4.0), 2024-29 ?

19. Which of the following is not the target of AP Electronics Man

(1) Increase production in the State to USD 50 Billion

(2) Attract investments worth USD 10 Billion

f 35
| (4) First time entrepreneurship creation of 2 lakhs | L.
[z [s]

[ﬁ oo o AP 59@:.\_«”% 5@55%505 Ton 3. U}, 2{}24-2‘%%\, w850 9 %ﬁ
(1) oged’ &&BD USD 50 HECHPE: oo

(2) USD 10 &80y Deo3s degedieds e80ctio

(3) SOXOT 5 ofp F0088 &S SN
(4) OO 2 o%o ;ga%aw_"ﬁ:%

9 (D)
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20. Assertion (A): Transfer earnings are not to be included in the estimation of National lncome

Reason (R) : Transfer earings are not payments forfactor services.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)_%031 (A) and (R) are correct and (R) is not the cotrect explanation of (A)
(3) (A) is correct, but (R) is not correct
(4) (R) 1s correct, but (A) is not correct

X
s

PES(A) A eorabo wostE 880 soralres S6ED.
e (R) : 200 soraires ;’}'ﬁé oS0 Bopew .

ERE

(1) (A) S08a50 (R) Bokor 3852 50000 (R) 6638 (A) Book) £33 DStes

21

(2) (A) 5080k (R) Botsr ¥BHD 30600 (R), (A) ci?méb X3RS 23 S
(3) (A) 5356, S (R) $B30 56

(4) (R) =888, 5 (A) HBIO =% “5
Match the following Special Economic Zone Prodgt;:!ion Units in (List-I) with their locations
(List-I). (Common codes for English and Telugu Versions) EYE
List—1 _ List-11 St

a. Divi’s Laboratories Limited-Pharmaceuticals .. i. Nellore

b. Parry Infrastructure Company-Food Processing . . Kovvur

¢. White Field Paper Mills Ltd.-Writing and Pnnu:rgg Paper iii. Kakinada

d. Indian Farmers Fertilizers Co-operative Ltd. (IFECO)- iv. Visakhapatnam

Multi Products
G0 BEE e Hoterad’d ¢l Soprel (der-I) € &) {0708 (deor-1l) $0Fe0d.

wder -1 whor -1l
a. QIS BETL0S IWBE FeRrsedsdd bt i Serds
b. 50 353345 502-HE S*HRoA i, S
c. PSS 236 Wy BWBE-BeSofR Sodon @oﬁo&g;’ﬁ iii. i EYE
d. 508aBS 656, 2086, E-uis8l5 D88, (IFFCO)- iv. Do BEG
WEO¥ eadiydiond
Codes/S* Eco : a b c d 3
(1) iv i i i &
|7(_2') v il i i P
3) 1 1 v 111 2%
(4) ii i v

10 : (D)
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22. Statement A : The Gol fiscal deficit R E for 2024-25 is 4.8% of GDP. ELE
Statement B : It is higher than the Fiscal D&Zt B E for 2025 — 2026. =l
(1) Statement A only is correct (2) Statement B only is correct
{ 3) Both statements are correct (4) Neither A nor B is correct

5o A - 5700 wgds R E 2024-25 08 SBIGDPE 4.8%.

%635 B 1 30 2025 — 2026 B E 508 &' eroisa 557 595,

(1) B85 A SeBR 58358 (2) B3 B S 3830

(3) Bot 850 HISD L(4) A 300000 B Bodir 50 59

W 'y

23. One of the following is not the standard incentive to the industries offered by Government of AP
based on the AP Industrial Policy (4.0), 2024-29.

(1) Decarbonisation subsidy up to 6%

(2) 100% stamp duty reimbursement on purchase of land and lease of land/ shed/buildings

(3) Reimbursement of 100% fee charged for land conversion

(4) Maximum capital subsidy of 15% of Foteign capital investment
it

b
B QPorysso T8 ?

(1) EstRBRS SS 6% 360 X
2) ey Txoffes 5000 4D/ 25/ dard 100% o5 eyl 80 3o
(3) £ 5rOyE D DPoseds Kisw 100% 88A 20D
(@) 058 Sorots Dennds NOger 15% Sarees Siye

E2E AP SoF% 2geso (4.0), 2024-29 @s°So @@&@M D8 AP (8080 SOFE0DH 90803 @rSrels

P
A s

24. What is the significance of the new payment settlement framework introduced by the RBI
in the context of the Foreign Trade Policy 2023 ?
(1) It discourages the use of the Indian currency in cross-border trade

(2) It aims to encourage the use of the Indian currency in cross-border trade

(3) It eliminates the need ToT Toreign excnange reserves
(4) It increases transaction costs for exporters

@Qﬂ D88 Treleyy e 2023 ;Sodﬁqac:véG RBI {mgé £ oD BOXE Vo7Ew (>e38300ed
sl 550ss8y) ooty Sraiopge D203 ? o

(1) 30 86y redesos’ groBab ST B0/ &SATFAIEY DTS00
2) S0Bg Trelegod OO SO0 GRABRODETR) B Srono B €3
(3) 2B D08 508 Do SSNOR, B ONRgoD

(4) 38 JOIBTBeH TTB PO 208ECD

1 (D)




iz
25. Match the following Central Institutes established under the AL.P. State Reorganization Act, 2014
with their locations. (Common codes for English and Teiugthersnons)

a. Indian Institute of Technology i Kumool @%
b. Indian Institute of Management ii. Tirupati

c. All India Institute of Medical Sciences ifi, Vizianagaram

d. Indian Institute of Information Technology iv. Vijayawada

e. Tribal University v. Vishakhapatnam

SOPEHBE TR DI s R8O 630, 2014 Bots Donyenddis Sa. @c& SoBah dogess e Tred
SOFenod.

a. R0GA0S 3y Larsed &P ﬁs‘;}oaﬁ, %ﬁ i §&%&,

b. 30400 3 aTged &P 333@5(%’5 il @W

c. &b g080® qﬁkwseﬂ 35 AES :.:&535 ill. DeschrsKS0
d. BoGaS 3Ry argel &P a3yRe Ssned iv. Descores
e.

NOes DT goTo V. Z)?aﬂqa‘é&)&o
Codes/S*Ees ; a b ¢ d e .
(1) i i1 1l v v

I (2) i v v i il
3) 1 v 1 v i

) iooiv v i i

26. Which of the following statements is False ?

(1) Exchange rate is the rate at which the currency of one couutry exchanges for the currency
of another country

(2) A direct quote is the number of units of a foreign currency exchangeable for one unit of
home currency

(3) An exchange rate regime is the system by which a coud&y‘ manages its currency with
respect to foreign currencies

(4) There are two major types of exchange rate regime : floating exchange rate and fixed
exchange rate

mym
808 E5eS08” DB Sy, ? lﬁﬁ

(1) 5705 e 08 5 Bifo ook 53Dy 58 Bvio B, ga%giwé Beas
m:ﬁ& 370y Scsotio DERETD) ooty airDe; o)
o5 0000 %0 63 S0myw WBgT0oD ;sssgaﬁrdm Bt o ot
4) ;;ros@ Bew Fress® Bods (HEeS SsPon GO @ edof ST6ED Sew Sobakn 3B SrEso
£
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27. According to AP Industrial Pollcy (4.0), 2024-29 one of the féﬂowmg statements is not correct
with regard to MSME sector in Andhra Pradesh.

(1) AP accounts for 9 lakh registered MSMEs as on February
(2) Majority of the MSMEs are concentrated in service sect
(3) There are 28 exclusive MSME parks in AP

(4) The MSME sector is contributing 33.5% of GSDP M AP |
ERE AP 20208 9°so (4.0), 2024-29 S=°60 @o@@WME Sorrdd wowodhod Eod

B ssesed’ DB 15050 S 2 oy

(1) etsgao EerS S0 L 2024 7738 AP & 9 ofo ;mw MSME oo

(2) MSME o&° 5535 70 (79%) da-toiiod” So Q58 ézazms
(3) AP& 28 @éas MSME r&iopo &30
(4) AP GSDP & MSME Gofio 80008 T¢> 33.0% |

28. What impact does an increase in the GNP deflato the purchasing power of money ?
(1) Increases purchasing power (2) Decreases ngchasing power
(3) No impact on purchasing power ces y

GNP &6 20riot50 e o oo ¥8 doroed Sgriso 559500 ?

(1) Fsofteo 382 Dotosood () %‘mﬁ“w FEBA00

(B) Fxoffeo ¥ PErso oted ITONS o :
EE =]

20, Statement A : In AP, capital expenditure constituted less than 15 per cent in the total gﬁiﬁ%

Government expenditure during 2016-21.
Statement B : Capital expenditure reflects the State’s commztment towards infrastructure

creation.
1) Ais true, but B is false (2) Ais false, yiﬂ B is true
(3) BothA and B are true ' {4) Both A andB are false
5560 A 1 SopE0eS 2016-21 305k Seod” 3080 B80S ;sgo%&é‘ BOTOGS S5ou00 e

15 a0 Sot) S8y &ol.
5N B 1 SoT0gs S50 STDE HEOJTe SN I8 TR NGB 2ODoDR0B.

(2) Assy, = B Dee

(1) A e, ?i}Bé:.’aax
(3) A 5o8a5» B So&> Jeso | 4) Amsaww@

30. The part of investment (Increase or Decrease) which takes piage due to change in the level

according to Udyam data base
>counting for 79%

of national income is termed as i
(1) Gross investment (2) Net mvestmem
(3) Induced investment (4) Autonomous: investment EYE
rSarorahd @"cmé’ S350y s°CeEsorr e0R DERE G (fodoiﬁ&ﬁe: B SKGEL) 232 Eﬁ
©0eIess ¢

1) 3o H (2) 56 e
G) o8 ‘b@g% ) ' (4) $gO%0 BB Deyged

13 (D)
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31. Match List — I with List — I and choose correct answer. (Common codes for English and Telugu

Versions)
List -1 e List— II
a. Monetary Policy i. Tax Rate
b. Trade Policy ii. Margin
c. Credit Policy iii. Imports and Exports
d. Fiscal Policy iv. Bank Rate
2 - 12 2der - Il & 28550 538 3377 JosSod.
o —1 Al B H
a. (&35 Agrso i 3350 Bexw
b. €& b i, 39S :
c. BeS rob iii. &XdSodoen Sodaky "m.a
d. &8s dgrso iv. ergof 3e :
Codes/S*Gex a
(1) iii ii i
5 W S ¢ 11 1
3 "Wmn i iv
@ i i v i

32. Statement A : India is the largest producer of milk. 3
Statement B : India is the second largest producer of fruits, vegetalﬂcs and sugar. mﬁ

(1) Only statement A is correct

(]2

2) Only statement B is correct '
Both statements A and B are correct
1) Ot Statoments A and B arc mcorrect

state are mcorrect

Tgrg0 A 1 groSE¥o OBBE 0 GBI,
P50 B 1 gro80¥0 BoksS b DY Po, KREmabes So8as ﬁ&é%@a“m

(1) gargsso A S 338
(2) Fsgreso B Sresas :66:6&

E¥E

T e
or

(3) Both FggrgTran A 3o0akn B 5859 .
(3) oo ERTRECY A 2000k B :66:6:) S5))

33. According to the report on Relative Economic Performance of Indian States (1960-61 to
2023-24), prepared by Economzc Advisory Council to the PM, what are the individual shares of

Andhra
(1) AP-47 and Telangana-4.9
and lelangana->.

the National GDP in FY 2023-24 ?

(2) A.P-4.9 and Telangana-4.7
(4) A.P-5.1 and Telangana-4.5

BES50@ esggase::ﬁmd@ St B3 085 557208 20Ty ) eoSRoBAS Be5, (1960-61 008
2023-24) 385 @50 2023-24 395 So5808" Had SADS m@@a& S0805s Boorres Tgro

Se8KS Trer TS0 Jos 9
(1) esoiginde-4.7 So0akn 8vorres-4.9

So|PRe-4.5 ZoBakw Boors-5.1

14

(2) sogERdE-4.9 .;’Jaﬁol'w 690:%3—4.7
(4) eso3sas-5.1 S0k Boorres-4.5
(D)
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34. Which organization launched the Credit Guarantee Scheme for the Livestock Sector ? %&f@;
(1) Ministry of Finance 4

(2) NABARD

(3) RBI

(4) Department of Animal Husbandry and Dairying

Sodo oS BéeS msdoed 3ES Ry 3 Voi 3ol ?

(1) =85 Bo0BTs TP

2) T

(3) RBI

(4) 3% zao;f»gé SoB0Kan EIOE TP

35, Statement A : The RBI announced a temporary I-CRR of 10 per cent on 10 August 2023.
Statement B : This action impounded about Rs. 1.1 lakh crores from the banking system.
(1) Only statement A 1s correct
(2) Only statement B is correct

(3) Both statements A and B are correct l

oth statements A an

TgReso A ¢ RBI 10 ey 2023 5 10 7780 o8 1-CRR 9 ©%IoD0B. EYE

rgio B 1 s 505 ersolol ¥ S0l 3087t T 1.1 off FeasaRrgdo Isd. ik

(1) Tgargse A SovEso ééﬁﬁ By
2 o B 57530 5056

(o) TrsargTeo A 300aiw B Sl 5052 I
3 S S))

(4) Tgrgores A So0dw

36. Which of the following are the major provisions of the Industrial Policy Resolution 1956 ?
1. Provision of licencing. .
11. Expansion of public sector.
111. Emphasis on small industries.
(1) Tand 1l only (2) 11 and I1I only
(3) 1and I1I only (4) 111, 1

>0 g Bomso 19566 BES Veogises 9 ?
. Sadyol ooy, de0ess.  EYE

1L SEos00n D0e. 2
[ D) SoEsoes B odgs.
(1) 1500 T Sr@do (2) 11 Sodass MESrEd
(3) I:So0aho T Srgsde @) 1,11, 111
15 D)
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37. A budgeting process which demands each manager to justify his entire budget in detail from
beginning is

1) Functional budgetin (2) Master budgeting
(3) Zero-base budgeting (4) Nomneof the above : i
ot A
{9329 53

: (=]
2650 83 Joogo wFeSso Bouesed Sood Do RisoRosod §'C wges Hdaw 2@6 '
58 e3e3of (2) 50736 exgedoh
(%) 2553 B wgedon (4) ::?ﬁ: 555

38. At what subsidized price per Kg did the Government introduce *Bharat Rice” for selling through

NAFED, NCCF and Kendriva Bhandar ?
(1) Rs.2 (2) Rs. 29 I (3) Re. 1 (4) Rs. 12

NAFED, NCCF 5080 Sodah goced SN w@mu{b&?‘\é QL0850 ‘GO 65’ D865 G
Fatet i @3«%’1&‘30& 2

(1) Rs. 2 (2) Rs. 29 (3) Re. l (4) Rs. 12

39. The situation where a country simultaneously imports and exports the same product is called
(1) International reciprocal trade 2) Internal reciprocal trade
(3) Factor reversal trade (4) Intrasindustry trade

25 To D55°008° 28 ety BO BIH0O ko 56000 om:»@% 5000 82 £08 T B wourts 9

(1) eaoécgwo:i, STNG Tredesgo
(3) 556 636y8 S&

40. ‘Which of the following is not a method of measurement of National Income ? g*g
(1) Value added method (2) Income method
(3) Expenditure method (4) Cost and Accounting method
8ot 38 wdad soardy 5§83 $¢5S S0 26 ?
(1) Jews S°EodS =59 (2) sorgi 566
(3) Sy Hed (4) &y oy wToedofl 358

41. What was the purpose of the 49 fine-tuning operations conducted by the RBI during FY 2024 ?
(1) To tighten liquidity conditions

(2) To ease liquidity conditions

(3) 10 maimtain liquidity conditions in alignment with the monetary policy stance
{4) 1o increase the money supply

FY 2024 & RBI 3 DEsrotediss 49 2,35 eargJon &{»3::@}.&@‘50 Ooed 2 3@5%

(1) G358 fg@na.m ¥85880 oo =
(2) (58eehc 350R M Boedisdo Sokedd

(3) B35BT IPBE eSordEIN (L5 BQBOLT SETronIS

: I ——
— T T ot

16 (D)



% 2G/202

42. When currency is bought at a lower price place in the foreign exchange market and at the
same time sold at a higher price at another p! this process is called
(1) Arbitrage | "~(2) Rationalization
(3) Annuity (4) Semi Bombla
EIYE 238 5rosp 3¢l (378)5)E .55 SES &&: BN Trioffen B, 08 Sobod’ K08 S
D895 HOBO D EC0D I TID e B0 soerdo.
} 2) Trdowlssen

_ (4) el al"on“
43. As per the second advanced estimates of Nag pal Statistical Office (N S0O), MoSPI, GOI, what is
- sector wise contribution of GVA at curreftp ees for the ear 2022-23 for Andhra Pradesh ?

(2) Agriculture-23. 36%, Industry-36.1 - :
(3) Agriculture-40.45%, Industry-23.36% M Services-36.19%
(4) Agriculture-26.19%, Industry-33.36% and Services-40.45%

rES (S erdab el sorgeano (NSO), MoSPI Sois Bosossy woTre Eso0 2022-23
S0SET S (BB G5 B8 esoBEBE GVA & DD Yorre gk JoB 2

(1) s 5?}“01:\.—36 19%, 50E50-23.36% 30008 ©502-40.45%
(2) Jg5c 3670, D06 oo
(3) SySran0-40.45%, SOES- 2336% o 44505-36.19%
(4) 355 cie-26.19%, 50E:-33.36% m D500-40.45%

44. Which of the following statements is/are correct about Foreign Portfolio Investments (FPI) in
2024-257?
I. The Indian Rupee (INR) moved in a narrow range with low volatility despite FPI outflows.
1. RBI set investment limits for FPIs in debt instruments and Credit Default Swaps.
[II. FPI investment limits in government seggmes and corporate bonds remained unchanged.

IV. RBI issued an operation framework for:: W lassification of FPI investments beyond E{b‘ﬁ-j

~ permitted limits. 1 EI 2
(1) 1and Il only :’---_-‘-:(2) I and IV only
(3) All the above %7 (4) None of the above

2024-25 & 258 FEFFOA 3RRvode (FPI) 100D $00 SEes08’ DB(R) FBIB(R) ?
EE I. FPIersy e‘.’aé@o@_}w (£:e33Fed) é«fg&wdé 58 Sraroad (INR) 8555 e.ac;aﬁﬁ@ ElotERy
Eji P @63 56800.
1. Soer Sesareo SoBAK0 Soes BDoid w6 ({3&6 &3¢ 35)0s’ FPIo 50 dexygerd S020800%
RBI Dgasodod.
L 5ghsg aé}g@aieéﬁ $o80% 5:8°50¢5 wé&%‘ FPI ¢332 5808000 ;’JJ"GEEQJ
IV. ¢ mm@c&m g@&l}w@&i‘) Qo FPI D agﬁmm 80N 5558038 RBI 2.8 2055063

(1) 1 55005 11@@5& (2) I 5008 TV Sr@o
(3) 28 @) P =®

17 (D)
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45. A person who has ultimate control over the affairs of a factory under Factories Act, 1948 is

called
(1) Occupier (2) Manager 3) Chairman (4) Managing Director
@"*ﬁé@ &0, 1948 (S5°C0 S0y SpioreR eodis Jaboges SOA &y 9530 T oL ¢
(1) essopand (2) 36 (3) 35S (4) 3oJe20h G0E6

46. Assertion (A) : The Indian economy demonstrated resilience despite global geopolitical
challenges.

et \

Reason (R) : India’s fiscal and monetary policies ensured economic and financial stability
post-COVID. g}ftﬁ
(1) Both (A) and (R) are true and (R) is the correct explanatlon of (A) =

oth (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
5 (A) : (335038 PR'PS oresdoth W ey gros el 5e3% 3 RO HEBB0 BBGS.
830 (R) : e7588%0 Booly 898 500080 (5555 Ireren §AE 8o &3§§ mem,. &5 %5.
:gé‘a“;)w& quaoa“o:o 0f
(1) (A) 30800 (R) Bosr 585D 50005 (R) &38 (A) o 3635 Dsten
(2) (A) 5:0a» (R) Sosor 35382, 5°9 (R) €38 (A) Booty $TH L3566 5°¢
(3) (A)%0, =0 (R) 8y
(@) (A) 83y, 3 (R) 90

47. How many Rythu Bharosa Kendralu (RBKs) has the Governiment of Andhra Pradesh established
according to Socio-Economic Survey of Andhra Pradesh 2023-24 ?

(1) 10,778 (2) 1,104 (3) 33,120 ¢ (4) 53,580 _
PG IS $Tg 2023-24 (35°50 SOGFEEE Bgddso 3 aﬁ.z 55°% Soross (RBKev) o0
me& 9
(1) 10,778 (2) 1,104 (3) 33.120 (4) 53,580

48. Post-economic reforms, the Indian economy saw a shift towards
(1) _Increased government control (2) Reduced foreign trade
(3) Enhanced global integration (4) Decline ifi’pnvate sector growth
SRE SoiTew ©So8S Tos', groi e 355 $ob DHLH $0Peb %&S
(1) 5oy dcbogses 200 (2) 8% el Shod -
(3) IXORS @B (Ted 30e37HaS) (@) ZReSton 558" §es

18 (D)
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49. Which initiative was launched to | i J
(1) Jal Jeevan Mission (JIM) 2) Swag;hh Bharat Mission (SBM)
(3) PM Posnan (4) AMRUT

58 o goeds 2024 Tredd Bovron eI KBS oo 5 D sa5Eso0 @rocdosndod ?
(1) 2o 853 WiS (JIM) sl oy “35;3\ 2,3‘5&"9 2055 (SBM)

(3) PM 28565 (4) AMRUT (e55%y8)

EYE
50. Assertion (A): Devaluation will lead to improvement in balance of trade. g@“?ﬁ
Reason (R) : Devaluation will lead to increase in pricg of exports.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true and (R) is not the com:cf? _i\_“;:(planation of (A)
(3) (A) s true and (R) is false

(4) (A) s false and (R) 15 true
D5 (A) ¢ (555 oot SO Tedeyy Biivoosd JIHEED TEIRB. EILE
oo (R) © 555 Deos Sod Aostoe §o 5 mcsg%: o8Hes. Bk
(1) (A) 5o0a5 (R) o> Deso, $o8cks (R) 838 (A) ¢ EN ), 0% D30

(@) (A) 55605 (R) Botsr Jeso, 50000 (R) &30 (A) G, 50 250 60

(3) (A) Dezo S5o0as (R) S5y

@ (A) Sy 000 (R) 980

51. Which Indian organization is responsible for estimating the National Multidimensional Poverty
Index (MP1) ?

(1) Planning Commission
(3) Reserve Bank of India

31556 3005058 34 3008, (MPDR woiir Sabe

rE8aD B0g erisBIriod ¢

(1) Berds dosoo (2) NITR&ETA
(3) Besbs ersol e godaly (4) esQ¥ 5008 TP
E!é*‘ﬁ
52. What was the primary reason for the current account surplus in Q4:2023-24 ? Ei =l

(1) Increase in merchandise exports

(3) Decrease in imports

(1) BHe Jbisased Lo >
(3) BrbseEE St (4) @)C‘.é 6&0@&0
19 (D)
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53. What challenges does India face in managing its oil consumption ud
(1) Lack of domestic energy demand e

f?i\ié;:“"

A 2E
55080 OB e &cﬁsmixéo@ POS8T¥o Seroed STy chaé“’bomm ? %ﬁ%

(1) BB0H 3045 &siorol Bsscio

Q) 3635 soBEBab 335 Foe

(3) o ﬁ“wm (92 Daxod) vosorares $o80kw e:;oéo"@cﬁ. ,:sm $O0 Triinditen _
4) 3 OO BB D0

54. Special Drawing Rights is the currency of International Monetary Fxmd This is in the form of

(1) Paper currency 2
(3) Silver and gold both {(4) Book keeping, %f@y only

6 (@ro00h Bey (Special Drawing Rights) e90& eodgdok (535 0@ (IMF) (Bao%) ¢5550 ($3y).
z.}cf} Y Srsod’ dotaod 9

(1) NS KB 2) worrdo
~ (3) 3ed, momto Bokr ['{71) D 30530 337765 (208 820k doed) Sresdo
e e ————————]
55. There is no GST on which of the following ? . %5"@

i. Petrol and Diesel ii. Liquor iy El%
iti. Electricity supply to consumers iv. Services of Lh@giable
(1) 1, i only (2) i, 11, iii only (3) i,il,ivenly l (4) All of the above
$od we3&” 33 GST 80 ? .

i DeSen Sobat & i, 956/Sotgs00
iii. AR sogd B830° iv. O Soge e

(1) i, ii 3@ ) il il S (3) Lk ivaegS | @) 28Ry
§6. Which of the following statements accurately describe the environmental impacts associated
with agricultural practices ?
I. The application of synthetic fertilizers and pesticides may res;ilt; in soil and water
contamination.
Il. Sustainable agriculture focuses on preserving soil health and pr@tectmg biodiversity.
[1lI. Modemn agricultural practices are unrelated to the depletion of freshwater resources.
IV. Expanding monoculture farming supports overall ecosystem stabili
(1) Mand IV (2) Il and IV (3) Iand I (4) land Il

S5 BESOE B00dBd &y S0t Perarei dob T8 D st PoBorr SO0 ?
I Hogeds Jeopes 500k BHEHooEe TEso So $:8050 D Seodes {3“53.3053;’}();3
I 2088 Sgdraio Jo as&en“s“o; Sot§oito SoBa a:;ﬁﬁ)c;s"bm ééefﬁ(écm Sy 08508,

HI esgods S5O 55 $0DDed S5the §raesto somoto 85, EE
IV. 2Se)S $5Rrairdy Dboistio Joolo SS0Es S5 RO DESIDEB0B. B
(1) Oseaio IV (2) HI s8as IV (3) T30t I ' | (4) 15580 11

20 | )



Enghqh and Telugu Verszons)
Column — A

a. Agriculture and allied activities

b. Industry

¢. Services

2G/202

Gross Value Added (GVA) Growth
s of 2023-24). (Common codes for

(’:olmlm-i‘?@§ %%
A 521% =
B. 8.02%

C. 1.69%

2> oodD o, H& Teds’ T Sowods (50558 2023-24 S0ty oo $5°00)

GVA 53 3508 102f0y0c.
Too-A

a. SgEPraio Jodais BSuwed SOETT0

b. 25OE=
C. DSe Solfo
Codes/S*Gosg a

(1) C

() A
(3) B
4 C

o W We

w o g Fle

A[E]

oo —B &
A. 521% %
B. 8.02%
C. 1.69%

.....

58. Which of the following are included in the Reserve Ban% og India’s Foreign Exchange Reserves

(FER)?

a. Foreign Currency Assets (FCA)
¢. Special Drawing Rights (SDR)

(1) aandbonly
(3) a,band conly

Besb; egof &P godalr IBE SrE¥ 5 Doged” (09 ;;% ngé BesEs) (FER) 808 738" 22

iu:}d o ?

a. 3% 580, esige (FCA)

c. 88 ool 8 (SDR)
(1) a 5080 b S

(3) a, b $dcko ¢ Sl

@;‘zgﬁ
b. cooméw mﬂﬁ
d. 6235&3@.?05 L0
(2) b, ¢ HBo d BTG
(@) 259

59, What item(s) account for the differences between GDP at fgctor cost and GDP at market prices ?

(1) Direct taxes and subsidies

(3) Indirect taxes and subsndles

(3) 36°g Sanes 3000k wihdes

axes net of subsidies
axes and depreciation

() i S0y00 00 SIS
7 ®)
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60. Statement A : All India Per Capita Income for the year 2023-24 (PE) is estimated at Rs.1.84,205.
Statement B : Al India Per Capita Income given above is:lower than the Andhra Pradesh Per
Capita Income for the year 2023-24 (AE) (at current prices ffom 2014-15 to 2023- 24). @rE
(1) Only statement A is correct mﬁ
(2) Only statement B is correct v
(3) Both statements A and B are correct
{4) Both statements A and B are incorrect
Tgamso A 1 2023-24 50:56y0°08 (PE) 3o grousdio doty B emrabo 5. 1,84,205
oS Jabedcd.
Fgarseo B 1 2 Joogo grostivo ot eorabo, sognds 20”3-24 (AE) 830 esmraio 5ol 8559
(2014-15 ;d:oc‘i; 2023-24 565 [E08 GO Hsd0).
(1) Trgamgsdo A S 33 358

(2) Fgarsso B Soreha HBSH

(3) Bk Ty A S08ako B xaaf;)
—14) oo Tggrsren A S08050 B 5o: SRERERS

),Q

61. Which of the following statements are correct regarding PURVODAYA scheme introduced
by the Government of India in 2024 ?

I. The PURVODAYA scheme aims to improve infrastructure in the eastern part of India.
II. It deals with Buxar-Bhagalpur Expressway. A
[TI. New Delhi-Kolkata Industrial Corridor is being develof;ed as part of the PURVODAYA

scheme. g&fﬁ!
1V. The primary goal of this scheme is the development of Gujarat State. @aﬁ
(1) L I only (2) L1IL 111 only
(3) IL I, IV only (4) LILIIL IV

2024 & 58 (50850 {32638 I8 G0 36508 oncdolis Bob E¥eses’ KON 59 ¢
L $rBisan 5550 grosB¥os™ driy Srosos’ 708 st aress 2asmssste ciorr

33&38&)0&. EYE
A AL
I 30 e%5-grrond 253555 sowodoedod. ik

. 57¢9-86se FoEt 06 B8 376t *aw g0,
IV. Koeoed o°% SR &2 g 0850. o

(1) I 1 S ) L 11, 1 53
(3) IL L IV 383 (4) LIL 1L IV

22 . (D)
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Which of the following reforms have mﬁmbuted to the unprovement of the Ease of Doing
Business in India ? sy

{1) The introduction of GST (Goods amd S’cnwes Tax)

{2) Removal of all foreign ownership restrictions in In an companies
(3) Nationalization of all private banks e
(4) Expansion of public sector enterprises into new sectors EYE

S TrSo Basso Mogsco Banadd @b somgng, 0 Eoresdod ? Mo

(1) GST (Sddew 3o0ai» D0 D89)) I DR

() OB S G0 DB e S SOmoTO:
() e @ ¢S ot PR L e sopstetur

?
(4) EEHSoR Sogess 58 SomdS D5oSEo
. Which of the following factors could potentially contribute to stagflation in the Indian economy ?
a. High inflationary pressures due to increased Government spending. s
b. Decline in industrial production and sluggish economic growth. QZ&
¢. Decrease in aggregate demand and consumer spendmg

d. Appreciation of the domestic currency leading to reﬂt:étlon of export competitiveness.

(1) aandb only 2) b an _g«only

(3) a,cand donly (4) All the'above

208 T D Stien RO eBE S55p6° BB (PSS Eeso DaorieDp ?
2. DBAS (3E0B Sgaie Smon efs ey eds. | ,_\ ErE
b, 2OEDS DS e 59005 HotNODS BRE B s

Ce. Bwdo Esrok 38050 AETHEEY sgoted’ @%

d. om0 e SRosEdE crobis Bl 50) DS LGS,
(1) aSoBaso b SrEo (2) b 3505 ¢ 5SS
(3) a, ¢ 500050 d ST (4) 25

Which external funding agency is supporting the Andhra Pradesh Integrated Irrigation and
Agriculture Transformation Project ?

(1) IMF (2) wmd;gm

(3) Asian Development Bank _

e30t55B5 3o IRBE FORSS SoBow) SSerad 20000 Dy ery Vo0 DBy DO
(1) IMF (2) 508 ePe

() e ehHY erges (@) o000 DO SRS

23 (D)
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65. The severe balance of payments crisis, faced by India in 1991 was characterized by
(1) High inflation, low foreign cx@e reserves and a large fiscal deficit I
(2) Rapid industrial growth, increased foreign exchange reserves and a trade surplus

(3) Low inflation, high foreign ex‘gﬁﬁnge reserves and a balanced fiscal budget

(4) Strong foreign investment inflows, low inflation and fiscal deficit

; B
3 3 A s £ 5, 55 2 ; Sug e
1991&°, ercesdiso om&b@ @@XJ ;J‘E@.S\ €39 DAoLy :ooéfgc i o) Ao ‘ﬁagégo& 1#@

l (1) o3 ES5gr0, B%35 988 5788 Degew Mok 26 @53 e
HIOBID FOFE 53, c.:aﬁ@?bzﬁ% Sr6¥ Doges M0y Toeley Doroen

(3) 853 Lcssgebm Q% 238 mmesw Soda Hodows 0¥ wges
(4) 2305 AT deyetoe B, e‘ﬁ%‘.al;j BT gese Bo8akn esds Sen

66. Which of the following statements 1sfare correct ?
a. India’s overall SDG score has @mw:d to 71 in 2023-24. Uttarakhand shares the top spot
with Kerala, both scored abo»%k:dka s overall SDG score.
b. In the latest SDG India Index 20;3 24, Andhra Pradesh is placed in the “Front Runner”
category. 3
¢. Arunachal Pradesh and Mcghalaya, each with scores above 75, are placed in the 3 é%
“Achiever” category.

d. Inthe 2023-2024 SDG Index, Lakshadweep and Uttar Pradesh scored significantly above
the national average, demonsﬁﬁmg notable progress compared to other states.

E v.,\‘

(1) a, bonly correct (2) b, c only correct

(3) ¢, d only correct » (4) a, d only correct

Bob 568" 5OIB() DB(D) 9

a. grO8OEo A%, 3o SDG 45 2023-24 & 71 & 3otoroddod. adcped E5eE PTTN
Soto08, Sotr groudtc Boo%), oo SDG S Kol Jy0 RS Serowe.

b. orer SDG 50l 303§, 2023-24 &, esogsds «; $0eS-056" S0n8S° dosdod.

C. ©Berid B8 ok ;%:wmsa 65583 75 %08 205 AFes’ “dsE” Jgrics® EEE
EOTRE 0. Eﬁ

d. 2023-2024 SDG 50a§,&, e:g "5 3800 &8 @3&3«% OO B8 Sodd Keadahorm RS

(1) a,b m@j:s; 385D (2) b,c mpﬁa “:ga:a
¢, d 3@ S5 (4) a, d 3B 835D

24 )
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6’! Under the Industrial Policy of 1991 £
(1) The mandatory convertible clause is apphcable @ all term loans
2) The mandatory convertthle clause is appllcabl%gg term loans of more than 10 years

3 is applicabléto term loans of less than 10 years

(4) The mandatory convertible clause is no longer applicable
1991 0@ DGrao P50

(1) $:5,0:50 E5c0eé Deoisis ey &by 650t 388300

(2) SBVV EcPeod JwogS 10 a’ao‘;’aé’g}w 5083 Jgy¥ €8, et 38500
(3) BEHISD £5:8858 Qe 10 Sossore Sold é%qg uaé &' Se®H 363500

(4) ambm::a §:~.‘>v623,,6 0G5S BED HROBES _ MQ
68. As per the Economic Survey, 2023, which of the wing statements correctiy describe(s) the
trend of Foreign Direct Investment in India ? Tt ErE

a. Tt has decreased due to less participation of the private sector. ‘!n—ﬁ

b. It has increased compared to the prepandemlc levels. =

¢. Tt has increased rapidly without decreasing in any Financial Year after the telecom sector

was entirely reformed.

d. It has decreased due to a weak global economig situation.
(1) aandconly : gEﬁancl d only
(3) a,bandconly
5728 153, 2023, 500, EPEBBHS” DY (6
Ei):j@a:o’\&fﬁ‘“fi Sy ?

s 30550 §08 T8’ D ¥tas(e0)

2. [Bawdel Sorto a:*’ﬁw 5;5350 BEHT &oteod 'Q& é’aﬁo& %"EE'
b. SroaE Fowed FTY 30 8RS =
c. 305 Soro BT SosPoTLAS S D 6E BosByes sy fftes Srorm 2008,
d. eolrERos (o Q¥ S05B s 30 Eiod.

(1) a 508050 ¢ S mm d Soesd

(3) a, b So0an ¢ SPE 48

69. Statement A : Andhra Pradesh ranks 1* in the prod
Statement B : Andhra Pradesh ranks 2™ in the pr
(1) Only statement A is correct
r@) Only statement B is correct

nvity of Oil palm in India.
tivity of Mango in India.

(3) Both statements A and B are correct

(4) Both statements A and B are incorrect
P50 A 1 rOE0¥0S” wowd T STNEESE ead@c‘aé oge | 3408’ &ob. OLAD)H
TgaRgso B 1 griBtEcd” Sré $og u%cﬁééﬁs esm:aaé oge23 .?.:"R’)oe‘is &0B. EIF}%
(1) ;}"533'5;50 A ;’aJﬁLé oBé&

2) rcapcSo B S5rEEs S350

(3) Bocé,ﬁ“éaréa"’m A 526050 B 28359 !
(4) ol Teggrgoren A =T

25 (D)
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70. Which International funding agencies committed to fund the Amaravati Capital City Phase-I
Development in Andhra Pradesh ?

(1) World Bank and IMF

(2) Woﬂd*Bank and Asian Devel

{3) World Bank and JICA {(4) World Bank and European Commission
BOFHBEE’ 30058 wgeod bed HE-1 8 Deioeo RIETHHERS wolE00DN wosgdab Ao
DBNeo DD 2

(1) B30 erged o0k Dol
(3) o argeH Sodaxkn &8s

71. Which of the following statement(s) is/are incorrect regarding the GST Council (GSTC) ?

I. The GST Council is a constitutional body estabhsheﬁ under Article 269A of the Indian
Constitution.

II. The GST Council is responsible for making recommeiidations on issues related to the
Goods and Services Tax. ij@

IIl. Every state does not have an equal vote in the GST Council. ﬁ
IV. Decisions of the GST Council require a three-fourths majority of the weighted votes
of the members present and voting. '
(1) Tand IV (2) I and 111 (3) Tand HI | (4) Only IV
GST 8 (GSTC) 8 Sowofod 80 HeSdooied” 28/ fD:') iy ?
L GST T8 &R0 558 orargoliob™ esf8S 269A ©5°60 Thoseds el cersolf 503,

L GST T8 erdsss $:0po0 oBok 25 DR Sowofodss S8oksed Rty Jaido.

[l GSTFHEE 50 OFLVS BITS £ GOELS0.

IV. GST T8 Bt Hgairets B Sodaks &.edof 3@&’2 $4050 JowBE 8.8 eshon
a5 Sodoo Jozrded esHto.

(1) I138a0 IV (2) Hsodat I (3) 1 5080 Il () IV SmE

][
g
A=

72. Which of the following statements about non-plan expﬁh;iiturcs of the Central Government is
correct 7

(1) The expenditure is on interest payments
(<) The expenditure is on science and technology

(3) The expenditure is on agriculture

(4) None of the above

Sois gL B EerdSSs (non-plan) PEne K800 Gob B¥eses’ o 2338 ? Ei“ﬁ
(1) & &) 3¢ DQoded

2 8 Ve @O eﬁsaeé’

(3) & Plyy JgSTravo D

(4) 230 s

26 )
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73. Assertion (A) : India’s real Gross Domestic Product (GDP) grew bysSZ% in FY24 despite global
and external challenges.
Reason (R) : The focus on maintaining macroeconomic stability_énsured that these challenges
—had minimal impacton India’s economy. ) EE
(1) Both (A) and @) are true and (R) is the correct explanation g! ! E.j’g@
(2) Both (A) and (R) are true, but (R) 1s not the Corre _ :
(3) (A) is true, but (R) is false
(4) (A) s false, but (R) is true
55 (A) : 905 So0ako eri ST ady3yesd FY24 & gros08 35S GDP 8.2% 20Rab.
RS setiemo (R) : 570 ©0% RoEgdy FSFRosto o &y BoBisboisco 3y e ST GPOB &R S
Hk K3 pSerariy Srarom. L

(1) (A) So6ako (R) Bokr Jezo 500050 (A) © (R) 508 2582 |,
(2) (A) 50050 (R) GO V&0, S0 (A) mmmms&r]f O o
(3) (A) deo, 52 (R) &3y

(4) (A) 8%y, 50 (R) Jez0

74. Which of the following are used for measuring of the high-power mong:'g:":supply (H) by RBI in India ?
(1) Currency held by the public + Other deposits with the RBI
a ial banks + Other deposits with the RBI

(3) Currency held by the public + Cash reserves of the commercial banks + Other
\ deposits with the RBI :

(4) Currency held by the public + Cash reserves of the commer eposits
of the commercial banks + Other deposits with the RBI

(rEEBEE SOE-535 30D ¥ (H) Bk, Toss RBI 330 e3arikgod ?
(1) @oee 56 &) 580, + RBI 3¢ &) 396 &6 5y
r[z) e3ess emsooe St Deges + RBI SE &5 3806 G

(3

3) swo 565 &%) 508 + el engoSou SHc dogew + RBI 3 oy IS0 oo e
(4) eso 3¢ ) 50 + Telesy ergotoe SO Joged + ey ETE0S -

75. Which of the following is not true about globalization and its impact on India ?
(1) It has expanded trade in goods and services
2) 1t has led to greater flow of Foreign Direct Investment

(4) Increased India’s access to foreign technology memfent ErE

550D B FrosEIon T (e 100D $0b T3E 58 M s ? e
(1) 30 Ssepes S8 bed Telergd) DZ0oDod ;
(2) 30 D3B8 B beneio wBS Eo808 TrHdhod

[ 3) armsson w6005 8ol JHsadion JEHOSO 5
(4) erostEl DBY oSS S0 TR0 GO T DoDoB

27 (D)
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SECTION - B
SCIENCE AND TECHNOLOGY

76. Match the pollution type with its major source. (Common codes fonEuglish & Telugu Versions)

Pollution Type Major Source EE
a. Air Pollution I. Sewage T
b. Water Pollution I1. Industrial emlssmns e
¢. Soil Pollution 1. Use of chemical fertilizers
d. Noise Pollution IV. Construction activities
S0y U5 O (PP Soreod $8feyod.
Srenlg O @.’:&p‘:\’) ma
a. T Feuso L S0t D& (38)
b. ¢ SEVRG IL. %@@mg,g &TORY
c. 3o Seusigo L 535 oD T7eto
d. ¥ seno Iv. DTYED SOGETIWS
Codes/S°Eex a b ¢ d

1) I IV I
) T
0) Lo B ool IV
VRIS - RN | SRS TS

77. The mission of the Ministry of New and Renewable Energy (M NRBJ is gﬁvr_&;
a. Energy Security d. Energy affordability 0}
b. Increase in the share of clean power ¢. Energy equity
¢. Energy availability and access
2) Onlya,c,dand e
(3) All of the above (4) None of the above
§'8 S0B0%0 DITOTIE 0455 Soo@ss °p (MNRE) G308, ), O850
a. 98 Ps d. %8 :Eﬂjme‘:e
b. 3535y (38) 3558 rers® 2K e ¥ REREIE
C. ¥ o Soddln wotoertn
(1) a, b Sobakn d S (2) a, c, d Sodo €57
(3) 252 @) 3D 59
" : [S]% (=
78. Which global summit led to the adoption of the ~Agenda —Rig Declaration” ? %ﬁ?ﬁ

(1) Kyoto Protocol
(3) UN Climate Change Conference 2015 y 2000

Q (3503 PO S37Fo (ﬁ“aeﬁ 33¢5) “eBct (SOHED uoéjﬁ} 21""5360‘13, “OB G50IE”
(BB (5625) SIFEOIETIE TBHDS ?

(1) & @s'sd (2) 28 32051992
(3) UN 33565 3oz 575,85, 2015 TS BIVCE)

28 ' (D)
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79. Ayushman Bharat primarily aims to provide healthcare coverage to which group ?
-class families
' (2) Rural and poor populations
B

(4) Private healthcare providers

a0y S erod @rgstor O 3G08 b ;oosgaa:;: @a&ouczo SEFONT ERCE ? 0@
(1) dees mgs-ééh@ 582008780
(2) weoed ;’Déu‘.‘iw D gy

(3) ;30'35";’35650&3 (rOnJU.)J 9393835;3)
(4) oS0 Sowoto 8 &b Sotge Hode (:a;%e,s rg86 @)

80. Which of the following methods is used for solid waste disposal in urban areas of India ?
(1) Composting -
(2) Incineration
(3) Landﬁlling
(4) All the above

83608 Deer Drord’ 53 Sigess PETdoti (Ad) $ob TS asdriod 160
58/59 7 )

(1) 5o (Sargsnes Sy Jod Sairsd Jokoe)

(2) &850 £33

(3) solBBof (Sspes fhoeed® ko) &3
,—%{4) = n

Gl

81. Which of the following is true about the “Circular Ecéfrj?)my” ?
(1) _It focuses on reducing the use of fossil fuels
| (2) It promotes the reuse, recycling and repair of materials to reduce waste
T3] 1L CNCOUTAges Nnear ceonomie growa
(4) It focuses exclusively on reducing carbon emissio ons EYE
TS B IO (¥ 508 IeE) K)oaao&o{i) Bolyme38” D8 Jeso ? %’ﬁ
(1) 38 dere: Yoo i):Ddi?mm Shoticion

(2) 30 S5 ShoseRS mm:oo D6 TE%o, mmﬁo (éméoﬁ) SoBalin Mot s
Jﬁs@\-ﬂ_’rl.ca

(3) 28 ST 53,‘:";33‘9 (5’5@) e3§3 3§ 4] @5@5‘" @ %

(4) 38 58S &ororei: SPoNEoRS EBECT S T BRYed

Ees
8 hat are located in mid latitude areas between tropics and polar region @
(2) Ceoniferous forests

) S@ﬁb ]ungles

5 (2) féoa‘j"s"d @&Qw
(3) K¢ &rsoe (4) @ ecpeo
29 (D)
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83. Which of the following public health campaigns was launched to improve sanitation in India ?

(1) Swachh Bharat Abhiyan

(2) Pradhan Mantri Jan Arogya Yojana
{3) National Tuberculosis Elimination Program
(4) Mission Indradhanush

GOS0’ $o8 36" O et BTPoy OB B SE8 ZrocdoTred ? §E
(H Fm“cié A OY RN
(2) B S0 e esb iy Aresd
(3) erdAb Fo Aryes SUyEse
(4) RS o8,
84. India has the largest installed wind power capacity in the world.
(i) Fourth (2) Second (3) Eighth {(4) Sixth
SO0UcE S TOBB¥o B DG FRoTRES 333D SOA &od.
(1) Treoks I (2) Bo&s (3) VD& A (4) e85
85. National Green Tribunal (NGT) was established to
(1) Monitor industrial pollution levels
(2) Enforce emission standards for vehicles
(3) Handle cases related to environmental protection and pollution control
(4) Regulate water quality n rivers
ELE-
25556 (S 30558 (NGT) 83550 ; sk
(1) FOEWSE ey FTo0uR Sg3FosEo >
(2) e &8 @Srtres ssdes IahEo
(3) Sorgstes SOUEE So0dn Seviy NaboEn Joechods Sy SByPosEo
@) 0000 e BEaB Nalo@oBEo
; ; ; ; NUSIPUT. |
86. Subject that is not associated with Avushman Bharat Digital Mission %@ﬁ
(1) Arogya Mitra (2) Health ID
(3) Sand Box (4) Healthcare Professionals Registry
eﬁcn@ﬁé grEd S83e08 WSS [owodio BR deo
(1) esEg o (2) 8 ID
W (4) &8 K5 ©oCEEs QDERO 6&?&;
30 (D)
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87. Match List — I with List—II and choose thepqpect answer using the codes given below. (Common

codes for English and Telugu Versions) D {g}&f‘
List — I (Biotic factor) L@Q— I (Characteristic feature) ﬁ
a. Humans I. Recycling nutrients
b. Saprotrophs IL. %p order heterotrophs in food chain
c. Reptiles II1. Less urinating animal
d. Camel IV. Stenothermal

e - 18 ewdo - 115 5639, §ois mﬁhé SEom &36rAoD $38 SIrEE) Jowtod.
e ~ 1 (2aras Sgd) DT — 1 (Fo% oeac )

2. SFSSH0o L @som 83ch Sabdo EYE
b. $@%TS, L B Feassol® % eagé B B
c. $63yeo (Repiles) HL 8255 S D% 3b motio
d. 203 IV, 35658
Codes/S*Ees : a b ¢ d
(1 v I 1 i
@ B 1 L LV
3 11  Wenil )
4) v 111 By 1
88. CR in IUCN red list refers to MQ
(1) Extinct in the wild (" (2) Critically extinct
(3) Endangered 4) ('Zriticaily endangered

IUCN Oii.c.g, 2He=S" CR B3IV 2rI500 7,
(1) @Ed8 sododraod '
(3) ©osdolFBTHOD

2) L§g3§e5ﬁ° 50800000

89. How many Sustainable Development Goals (SDGS) has the United Nations established ?

(1) 17 (2) 10 ny (3) 12 (4) 20
= AR SRS DR oo (R¥end B3eSool K'd)) (SDGw) domen Sod ?
(1) 17 () 10 @) 12 4) 20

90. Choose the correct statement.
(1) Producers in an aguatic ecosystem are green plants
l (") Archca are a type of produccrs who use.
{4) The stabili 1ty of ecosystem depends og mnsamers
~ % S ko
305 (5560 JoioElod. b &]ﬁ

4) uc‘gbéea 2.’)5;5'3 o?mgL ,gcé’gso ;’)&i?ﬁcs"éoe:,g e;ac;”basé—, Gotood

31 (D)
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91. Assertion (A) : Grazing food chain begins with dead leaves via herbivores to camivores.
Reason (R) : In grazing food chain autotrophs capture energy and trahsfer to herbivores. %‘v@
(1) (A) and (R) are correct and (R) is the correct explanation of (A)." &ﬁ
{2) (A)and (R) are correct but (R) is not the correct explanation of: (A)

(3) SA) is correct but (R) is not correct

{4) {A) is not correct but (R) is correct

WSS (A) 2 08 83556 Teoio (g%aeoﬁ S BR) BP0 SHul (T CoRs FTEEe S0k
SFoFHEe S5¢008. .

Fes0 (R) : ot 653556 Feokios® eS¢ oo 40 Soilrod s sthetd w08 e,

(1) (A) So8ako (R) 5352 5060 (A) 8 (R) 8BS J56e»

(2) (A) 0050 (R) 5352 58 (A) & (R) 355 Ds6es k0

(3) (A) 5830 SR ;R; 233O S
(4) (A) 38560 o 2 (R) 3858
O 0]

92. What is the pnmary goal of India’s Natlonal Clean Energy Fund (NCEF) ? "*ﬁ

(2) Promote renewable energy technologies and reduce carbon emissions
(3) Increase consumption of fossi Tuels
(4) Improve forest conservation practices
2,;'6:3&3% B §5 258 Ho& (NCEF) ook, (Ea08 050 2003 ?

&N es oS &Y DiraroBsc
(2) 2DSBTEE oGS FroSBESeR PPBRroSto Hobdin S GOS0 Sfotito
03) «zsm
(4) e Sotge S0 BoonbHsHto

93. Wh.ich of the following factors contributed most to the burden of malnutrition in India ?
Lack of access to clean water ‘
) Poor dietary habits and food insecurity
3) Overconsumpnon of processed foods
(4) Increase in environmental pollution

oy
erE8SE0S” SstE &% grdo WS §od Wa@ 08 T FeRessdod ? %ﬁ
(1) Seiimoss N> e0serens’ ésﬁ%&o
(2) et B SHEP woTey S0WN &Y SgBS
(3) PR O%0 BT ms PSSO Gom sdsor BithsEo
(4) DogRdes sPeoo JRlablielats

94. State which is the larggs ind energy in India o2

(1) Andhra Pradesh (3) Tamil Nadu (4) Karnataka
FESTH0S” SBgHE DI 3 0 o0 ORe 08 9 3
(1) esogsds (2) .ri—ad”é (3) ST " (4) sgos

2 (D)
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95, Geosynchronous Satellite Launch Vehicle (GSLV) Iaunci;ers have
(1) One solid rocket motor stage, one earth storable li | stage and one cryogemc stage

(2) First and third stage solid rocket m ages <

(3) Three liquid stage motors and one solid stage motors

(4) One liquid stage motor and three solid stage motors J&]

SATHOESS e3BeS oo 308 (GSLV) erowss; S SOA éoerax 2 8

T oo 0865 Derd 058, o 0, SPOENS (55 (58 20000 &8 (S00TES (o8

(2) Bootsed sSoBok0 SaT7esS &% P00 TP8L SerEy 00k & SO0 Qe % (9 T8
S0 £

(3) SaTvho (535 5% DreT S0 28 085 5 Boreryy o5

(4) 25 (53 655 Drerth> SoBckhn Sarehd Foi 658 Srersy

96. Which of the following is net one of the three pillars of sustainability ?

(1) Environmental sustainability (2) Economic sustainability

(3) Social sustainability { (4) Political sustainability )

80 36 DB 9:308 o, Bk Jogred LS T ? ,E";%
=y

(1) Dorgsoes RoQuE (2) =08 ™ Boats
(3) ke Rogts '(4) O“&;‘gcﬁi%’w.ﬁ! &S I

97. Which of the following is the primary goal of India’s “Muni
'Handlmg Rules, 2000 ?

ipal Solid Waste Management and

@) Promotmg waste segregation } (2) Increaa;i%rzg waste generation
(3) Reducing waste recycling (4) Supporting landfilling

erESBEo Y, “S0odsS FOE 3] FsdeR0eS 000K Siodoh 5rE), 20007 G, ErEE ©F 50
2o 738" 98 ? .

(1) 5TO DR Sy ! (2) STe@nBd Dosto

() SETO DO DA wgon) Shodto (4) Wéoégn%oﬁm Qe yrosto

- o)

98. What is Digital arrest ? ' %ﬁ:
(1) Arrest made by police when the accused is in forelgn countnes

(2) Arrest made by police when the accused cannot be arrested physically

(3) Arrest made by police when the accused is &ted anticipatory bail by courts

(4) Term used by cyber criminals to scare victims

&2ed ::33;0 35T Do ?
(1) Dodst: red’ e Fibes Bd &8

........

(2) DobHED FO%or e8] BADBIDYE *@m 35 a@@
(3) Dobsods S8yen ;’Doooroo Boood DS 2003 3?@ Tlor

(4) wb 36wy roBooso G Hotild TG B0

33 (D)
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99. Project that is not associated with International Solar Alliance (ISA)...

(1) ITEC (2) ISTARC (3) 0SOWOG - (4) KUSUM
300y558 b wedhdy (ISA) & sowogio 80 85
(1) ITEC (2) ISTARC (3) OSOWOG -4 {4) KUSUM

100. Biogeochemical cycle in which the main reservoir is not the soil
(1) Sulphur cycle J (2) Nitrogen cycle (3) Phosphorous cycle (4) Calcium cycle

2 DBFRATINES Ko o SES deoacd b 2
Coisedsse Jo AT S Sgo (3) grsto Sgo (4) sBavo S0

101. What is the main advantage of organic farming over conventional tamung
(1) Increased pesticide use
(2) Higher crop yields in all conditions

: Reduced chemical input and improved soil health

nereased greennouse gas emissions

'3"“ 2

==

SPORORh SgHrato Ko dodch SEIraio Gk BeS EdEreso I ? sa‘%
(1) DES00E0e TS0 BENHSE =

(3) Eraixd &S0 B0 S00AIN 9O &8 10 JodoKIELe
@) (oo Tk Gnomes DONGO

102. Match List—I with List — Il and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)

Bl List — I (Solar Park) List - IT (Capacity in MW)
5.;‘; a. Hybrid Solar Wind Park Ramagiri L 1000
b. Ananthapuram-I Solar Park II. 160
¢. Kurnool Solar Park 1. 1500
d. Ananthapuram-II Solar Park IV. 500
doe -1 ewrdeo - 1 § 580 Sodain $ol 3y G & o&rﬂo:a NOS BB
dosoSlod.
Do - 1 (b E) Do - 1 @rayd’ @mg;o)
a. o°ohd TAE Ferb Dok 5, L. 1000 LG
b. esosmto-l erd 6, 1. 160 Sels
! f
c. S5m0 Ferd 6, 1L 1500
d. e308:p0e-113 @5 F&, IV. 500
Codes/S*Ees : a b ¢ d
(1) | I v 1
2) | i 111 v
o I N A W
4) 11 I11 i v
L D)
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103. BrahMos supersonic cruise missile is deVe_ioped by the 3@:;: efforts of %%
(1) India and USA (2) Indiaand Russia | &
(3) India and France (4) India and Japan
@IS BrSETIE Erosod §563 De3 Socing H06° 658 I,
(1) gr568%0 S5o8ak0 a%0.08.. (2) Prost¥o SoBcko G
(3) grEsdio So0a Py (4) GroERHo S0 B0

104.

10S.

What is the primary source of air pollution in Indian cities?

(1) Industrial emissions (2) Agr&@iﬁmrai practices

e

(3) Residential waste burning (4) Automobile emissions

FOBAD SHCE, TPao oS GBS Sareo Hoed ?
(1) S0Es dorores (2) 35S Hejesoe
(3) AT JTes Feto 4) ;3“3')‘&@ (eﬁ»@_é) GIROED

i

Assertion (A) : National Biofuel Coordination Cammitif}ge"needs to approve use of surplus food
grains for production of ethanol for blending with petrol.

Reason (R) : Farmers are at risk of not getting appropriate price for their produce during the
surplus production phase. %%
(1) (A)and (R) are correct and (R) is the correct explanation of (A)

(2) (A)and (R) are correct but (R) is not the correct explanation of (A)
== e
(3) (A) is correct but (R) is not correct -

{(4) (A) is not correct but (R) is correct

TES (A) 1 208 S0 3PS &8 Dby &5 rarge BT B B35 0655

5050t 2063 es3rBoTd.
EE
5030 (R) 1 o700 &y 556" D00t 85 &S0 NG 36 oRoS @Srto sod.  Bekh

(1) (A) 30805 (R) 35D 5060105 (A) & (R) 53 95663

(2) (A) 5985 (R) :Jg;a:a =2 (A) & (R) ::En DSEes svcs;

(3) (A) 3358 s (R) $TIB s
(4) (A) 1338 56 2 (R) 58560
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106. Match the List — I with List — II and choose the correct answer usmg the codes given below.

(Common codes for English and Telugu Versions) e {'ﬂﬁ’
List -1 List — 11
Type of Selid Waste Management Function E
a. Incineration I. Conversion of recyclable waste to carbon based fuels
b. Pyrolysis II. Process of burning waste
¢. Plasma gasification [1I. Exposing waste to extremely high temperature
d. Compostmg IV. Process of decaying organic waste biologically
ewder | & erdor — 11 5o 508y §ots 0o § Fﬁéem &IBTACD 3B BIFTTY JoEod.
AL | Lo —
FOE I Migien U0 :ao§5 .
a. 85S0 L. HIORBFHIGBEAS Sggoss s»@ e3¢ goTreare
;SJ"&C@O
b. 250D 1. Qgcwm 59y PFEA
C. TR PRSI [ SgTes e8RS &Lns X030
d. SR IV. oo S5gos ssegsson 8e3053% Pdow Elﬁ
Codes/S*Gen : a b ¢ d
(1 AY 11 | il

(2) I | I Y
) ) m ] 1A% g
4) v 11 1 | g
107. What isa key goal of sustamable development ? :
f jronmental impacts._
(2) E‘nsurmg social equity, economic growth and environmental protection
imiting global population gro

(4) Promoting environmental conservation over all else
m@d e;é)é\a @Mé dox e:dao D003 2

£ SeTPaey S Seol. :.3@30 82 08 SHE
> SOg0Es SOUEES $E LN

(4) @Khﬁéceﬁ Sorgaises o:vf}dgs'a:b., @Ge‘é\momao

(]
iy
10

108. Which of the following is NOT an example of a bioremediation tcchmque ?
(1) Oil spill clean-up using bacteria
2) Using plants to absorb pollutants

(4) Composting organic waste
@0 738" DB exBrdddahnd 308 anirden 6 ?
(1) erslootrs Ea@ricd JoBk SB008 BESESEo
' Srensds SPOTTeS STolosrRd Ko &3@riodto
EenDBaos Soedd scentio
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109. Assertion (A) : DHRUVA is India’s largest nuclear

earch reactor.
Reason (R) : Advanced Heavy Water Reactor envi
spent fuel. =2

2é
(1) (A) and (R) are correct and (R) is the correct anation of (A) Iﬁg‘%
(2) (A) and (R) are correct but (R) is not the correct explanation of (A)

arge scale utilization of plutonium bearing

{3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct
&3 (A) : DHRUVA &30 gros3sd o 3¢ e 308655 0cirgs.

5030 (R) 1 08 0 705 0airg0 el Daingan) 9y TS F067) 24 89 %@
IIAFARB.

(1) (A) So8ako (R) S8 So0ak (A) & (R) 535 m
(2) (A) So0axw (R) 508D 50 (A) § (R) 58 2558 S

(3) (A) 3350 = (R) 5050 °¢

110.

111.

() (A) 3050 8% 50 (R) 080

Which of these is not a biodegradable waste ? S

(1) Vegetable peels (2) Fruits (3) (4) Tin

536° 06 erfoairs $8058h (aBrafitesd) S50 3%

(1) sromadd Seo  (2) Dol (3) & (4) SKGo (e3S)

The concept of sustainable development was first popularized by which report ?
(1) UNDP Report 1992 (2) World Bank Report 1985

(3) Brundtland Commission Report 1987 {(4) Rio Declaration 1992

100 DY PSS It D IIOE To S0 ;;%q@o@ ? 2&%
(1) UNDP 2365 1992 (2) %%Ou g JI0% 1985
(3) @otSersol KNS VSO 1987 (4) 63> AEES 1992

. What was the primary purpose of the Air (Prevention and Control of Pollution) Act, 1981 ?
(1) Control air quality standards (2) Regulate vehicle emissions
(3) Promote renewable energy sources (4) Reduce use of chemical fertilisers

T (SPevsy Ao SoBckw Jaboes) Héyo, 198 IZ”&DSZL @EAE &3¥o J20ed ?

(1) ™d reag® BSTeross dabo@Bouo ) ﬁ@é SRR DaboBowto

(3) DBOTHEE oGS 3508 Syrotito (4) BPans JBope TELe Shosto
' 37 D)
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113._State that produces highest solid waste in India
(1) Mabharashtra (2) Andhra Pradesh  (3) Uttar Pradesh (4) West Bengal
SOSBH0 SHOS S STok sB3doge
(1) soy (2) soGEds (3) &80 586 (4) Byso Bord
114. What is a global issue associated with the trans-boundary movement of waste ?

(1) Reduction in greenhouse gas emissions
% .

(3) Physical transfer of hazardous waste for reprocessing or storage

Timination of deforestation and desertincation EXE
e, , % T i -t ; I a !-“' 0
S5Te $OTE eo BSDoDHT WoEI& &) FER0S Sy D03 9 Boctss

(1) ASTR Trase Ps o BAOD

(2) 300305 Sygze Aes

(3) 5 Yoh B Deg S50 EETESERS BTN FOST 20O IALEO
(4) et T¥50 B 0800 BTN

115. The terms ‘Petya’ and_\ Cry’ tedto . '
(1) Mobile apps (2) Ransomware (3) Virtual reality (4) Mini Satellites

ey’ 55080 ‘TN E @ Bores B8 SowododSdy

(1) 3008 e r.(Z) TPORIBE (3) 3E5HSS OasrdS  (4) e3Be5y

116. Radio Astronomy center is located in %gﬁ!
(1) Trombay (2) Ahmedabad (3) Dhanbad (4) Ooty =
daar pi'y T Soitio & &od 2 |
(1) ero8 ) emoerd (3) &8 (4) &sed

117. Which of the following government initiatives aims to control industrial emissions in India ?
(1) Swachh Bharat Mission 7
" {2) National Clean Air Programme (NCAP)
3) Pradhan Mantr Ujjwala Yoj
(4) Atal Mission for Rejuvenation and Urban Transformation (AMRUT)
EPOSTHOE) Be S0 (HE0d EESTed 08 FOFAY EFT e WoBoSERE dgfotndod ?
(1) 303 &r0S 2035 % ohi0
) 3nsd §5 oo @S> (NCAP) E’ﬁ
(3) Erasoo® &80 a3ress
(4) DIBFSS0 S0Bakw Ve HBSGS S0 eod WIS (83%5)
38 ({1)]
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118. What is the “dual burden” India faces in public health ?

(1) Rising rates of both infectious and non-communmble diseases
(2) Overburdened doctors and healthcare infrastructure
(3) Lack of insurance and financial access .
(4) High rates of both obesity and malnutrition ENE
perged’ grosiio AT “tsols 760" b:ms ? &

(1) oo 500050 PoENLoS (FE-E5argtend) e RS Bex

(2) &6 erdo ) Delisges $o00K &8y Bodges TV dedraires
(3) S50 o805 @%&:oﬁi}a‘f“@ (Qﬁ"ggnl) g5dfsso,

(@) EmTaoo SO0 RSO © 50 0G0 008, SRS 06

119. Reason for the melting of Gangothri glaciers of Hlmziayas
{1) Global warming (2) @mroﬂourocarbons
t’§J Particulated qust (4) Green house gases

rrecires s Kol D rarasares SRS sttt
(1) P08 oo (Red T8oh) (2) EEPTS
(3) SPO85Te ooy 4) AS 7% aiupen

120. Which of the following is NOT an alternative to comgéi{tionai pollution control methods ?

{1) Green technology (2) Bioremediation
” -
(3) Carbon capture and storage (4) Incineration of waste
20d 336" D8 FropTrdd SRy aloiBes Wgé@e}&m@;wﬁmﬂ 50 ? ?ﬁ
(1) hd tBS":}ua;‘ (2) BT 5D e
3) 3*5:3:5 Soiaires 3o0ako Doy (4) Bf}éO“E}RSJ- S"%Cﬁ,:}

121. How many core missions are included in India’s National Action Plan on Climate Change (NAPCC) ?

(1) 5 (3) 13 @ 10
TERE Ao & Zoch SO PeTd8 (NAPCC) &2 2R G AATTELS (AR)
(1 5 (2) 8 3) 12 (4) 10
122. The “ozone hole” is primarily caused by the relgasg ol
{1) Carbon dioxide (2) Chlorofluorocarbons (CFCs)
3) Nitrous oxid ethane
(3) Nitrous oxide ‘ (4) M EVE
5,55 oo™ e B Dotse Se IyExsood 4 i
(1) S6S Goirdé (2) SE%FT s°G)Ses (CFCe0)

(3) SR %5
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E’% 2G/202

123. CITES (Convention on International Trade in Endangered Species of Wild Fauna and Flora) is
also known as

{1) Geneva Convention (2) Kyoto Protocol

{3) Washington Convention (4) Paris Agreement
Wm 20801 3§ wreheed’ wosgdab welege D SirY) 3 e

eCLTLD. [E[E]

(1) BDar $57S0 Q) &S SS'sS b

(3) Tao[ ASTSE0 (4) 65 enolo

124, What is the primary environmental concern associated with Genetically Modified (GM) crops ?
(1) Cross-pollination with non-GM crops 2): Rgduced pesticide use

{3) Increased yield 4) Smi degradation

gzogsS8or S8 DB (GM) Sotsels SonofolS EPELE So7gies &oB'ES Doed ?
(1) GM 5% Soted So-Soivodte (2) DoroBootioo 8o Sifo

(3) B 2KEo (4) e des

125. Which of the following countries is/are legally bound by the emissions reduction targets set by
the Paris Agreement ?
{1) United States and China (2) ]ndia
(3) European Union {4) None of these
EEE a5 ey080 Ty oA GIRoe SR oF e $od BTE. JA(D) Stegor Seaed
Eﬁ &old (é&?"&%) ?
(1) cXoRE3E Pedy $odao T (2) erosdEo
(3) ALrEHAnS ALrdahS {(4) D38 05 3

126. Which technology can reduce the environmental nnpact of traditional farming, especially in water
scarce regions ? .

(1) Drip irrigation
/ emical pesticides
{3) Flood irrigation

(4) Monocropping

EIRE] 507588900 FPoEERa Sysaraioo A Eerar, (Soopserr J 568 &y @rored’) shoske
‘!@g Syman
(1) Dots> esgo
(2) SJanS PotLIvoSe
(3) 555 VeIt
(4) Der 28 Soti 2.3 40-Dd’ Sodotiey RrSshoR)
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127. Which of the following is a potential tipping point of global climate change ?

(1) Loss of Arctic ice (2); "'iﬁ%:duction in CO, emissions
(3) Increased deforestation (4) %ecrease in solar radiation
H[E
B0 T B505 TEristes Sy (Fed 5 Jod) meszboﬁ oot D6 ? g?ﬁ
(1) 038 Sooiko S350 (2) CO, &mrore 8icD
(3) 2BAS e TS (@) ¥ 286e308’ BKYSO
128. Which of the following chemicals was released in the Bhopal disaster of 1984 ?
(1) Chlorine (2)' Methyl-Isocyanate (MIC)
(3) Ammonia (4) ydrogen Sulphide

& (80 SFabmed’ 1984 & 36 dudes® Sgosd Na o _
(1) §65 (o zbaei o3¢ (MIC) |
(3) ©dFa @) e 58

BYE
129. Which Organization regulates Genetically Modiﬁei%@rganisms (GMOs) in India ? ﬁ
(1) Food Safety and Standards Authority of India'(ESSAT)
mmn gineering Appraisal mﬁ
(3) Central Pollution Control Board (CPCB)
(4) Indian Council of Agricultural Research (ICAR)

FEEDH0S’ eiogdornr S5ty 3083 SPoio (GMOw) 9 0% Ao ?
(1) HE B wob oty esq:*’ﬁeg s godosr (FSSAI)

(2) 83638 30230004 &, g&:é 08 (GEAC) | o

(3) 3o seol r.;a}ao[_ée" S00ts® (CPCB) —

(4) 30dcs TS &b ufgensd 838, (ICAR) :

[E& ]
130. What is the key characteristic of black carbon that accelerates global warming ? %ﬁﬁ

(1) Itisa type of methane

(2) Itis a short-lived pollutant produced by mcom;p}ete combustion
(3) Itis released by CFCs

(4) It directly depletes the ozone layer

275 Syo Go%;, D Soogg oFeso T ad T0p0ADH 35;5::@0 5308 ?
(1) 2828 5@;&5 0P

() =E oiog 5550 T S8 Sabnss Sosds Saxyo
(3) 30 CFCe ong0r A6 Sabexciodidod
(4) 36 Scor L85 55 Seondisged :

41 D)
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131. Assertion {A) : CFCs are greenhouse gases that contribute to cilmate change and increase UV
radiation on earth. EYE
Reason (R) : Chlorofluorocarbons (CFCs) are man made gases usgd in refrigerators, Zoﬁ
air conditioners and aerosol sprays. =

(1) (A)and (R) are correct and (R) is the correct explanation of (A)
{2) (A)and (R) are correct but (R) is not the correct explanation of (A)
-T!) (A) 1s correct but (R) 18 not correct

{4) (A) is not correct but (R) is correct

TS (A) : CFCed SIS 3rck09e0. 30 TTS66 Srtinolh 5330 0w S00akn 407 D
UV 3380 Dodaram.

90 (R) : $EPET05e0 (CFCo) 09886, Joxnd Sodisagatate IS (nod
EHDPAOD ST WG TOLOIeo.

(1) (A) 5000580 (R) 585D 308050 (A) & (R) 1585 Di50e
(2) (A) 3o8a50 (R) 859 s (A) & (R) 385 25082 5760
(3) (A) 350 SR (R) 5856 =0

(4) (A)3B88 s 52 (R) 5330

132. Which of the following is an example of an environmentally friendlytechnology used in agriculture ?

(1) Genetically modified crops (2) Organic farming

(3) Pesticide spraying (4) Chemical fertilizers o
Eod e36° 355anod’ ESBrAcS STt $lre FEBES B &orse ? Tk
(1) essogston 30ty 308 Dot (2) JoBab SgEIrako

(3) DSt SO (4) EALS Ao

133. Statement A : Natality refers to the birth of individuals in a population.
Statement B : Natality rate is expressed as the number of individuals produced per female per

unit time. -
(1) Both statements A and B are true
{<) Both statements A and B are Talse

(3) Statement A is true, but statement B is false

(4) Statement A is false, but statement B is true

TG0 A eS5850 B0 ererS S5e DRSS APDR0d. -
TgaPsiso B : 8 o¥ardel $oaod’ e & ool @S Sabeds 5550 SopyT essss B E}%
3:85B05ea¢itood.

(1) Botd Tggrgores A SoBako B S35
(2) Coto T5Pr5Te0 A SO0 B Sy
(3) Tgargso A $BS0, SV Trgo B 8y
(4) Fggmgdso A Sy, 5 Tgargdo B 58858

42 (D)
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134. India’s National Action Plan on Climate Change (NAPCQ} aims to address iéié’ii-}
(1) Only greenhouse gas emissions . El
(2) Mitigation and adaptation strategies for climate chagge
(3) Biodiversity conservation
(4) Air pollution control
TS STENOD PRS0 ook erBAk SUTStes (eTdE (NAPCC) De3D 58:300w5¢0 ofgorr
808
(1) ASTTS o &orores STER
(2) Torste e S0 EES Sobdn GHon %::@ea
(3) 2535 88Fe
(4) Trosn ey JCHowe
135. Disease transmitting vector is not a Mosquito for which disease ?
(1) Chikungunya (2) Leishmaniasis (3) Dengue (4) Malaria
8o 3" 550 T0° Tgey S0 T OB ?
(1) DS (2} &Ly e 1 3 W 4) 3360
136. Match List — I with List— IT and choose the correct answe‘f%ﬁsmg the codes given below. (Common

codes for English and Telugu Versions)

B o
List — I (Emerging Technology) List - 11 (Scientist) %‘ﬁ
a. Artificial Intelligence I. Kevin Ashton
b. Open-Al II. Sam Altman
¢. Internet of Things (IoT) HI. Thomas P. Caudeli
d. Augmented reality IV. Alan ’T‘urmg ™

doe ~ 1 erder - 11 § $0ey0d 30050 $o 3T %‘&m EBBrAD BTS SRy
O uo§f ocs.

e - I (D508ef Smyedd) e - I (558)
a. @i D¢y I 323 e
b. £25 Al (Open-Al) I 3 g am
c. 3088y & §ofy (IoT) L g8 5. $@6 Becty
d. eReBE Bairde IV. &S earsdal
Codes/S*Geo a B ol d
1 1 m IV I »
L& v § 1 =B 4
@ v o m I
@ nowvom 1
43 (D)
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137. What is the primary application of bioremediation ?

(1) Air pollution (2) Soil contamination
(3) Noise pollution aterporne diseases
BB ABNS Bool) (P08 AAABeKo 3087 :

(1) =aso ;e (2) Jo o

(3) ¥y senigo (4) e oo Sy Frgoen
138. Pollutant produced by vehicles that reduces the Oxygen carrying capacity of Blood

(1) Sulphur gas (2) Carbon dioxide (3) Nitrogen oxides | (4) Carbon monoxide
t F ; < s N T
TETO OG0 Gthd Sabeds O Seoly S S0 Bk, @S 37w R SRS0D ?
(1) SodmTaod  (2) 4 &ab$Hé (3) Bad et (4) GO TG
139. Which Indian city is recognized for adopting zero waste concept in solid waste management ?
(1) Mumbai (2) Delhi (3) Pune (4) Indore

EEE 555 S5¢ Aered” (TG 3 Bo38300e5) oy Sge AT (26 I £HR)
el e;ma%a;somaww S rOBE Sto KHR0D Fotod ?

(1) 0B (2) &8 3) e (4) 2056 )

140. Population density is generally expressed as
1) The total number of individuals in a population

2) The number of individuals per unit area

e geographic distribution of the population
{4) The number of individuals within a sample area
B FroE DeromonT ger Sgi¥Botaod

=[]

; 3 :
(4) 3577 Fosod’D SKe Sogs
141. Anganwadi worker is a functionary of which scheme ?
(1) ANM (2) MMU l (3) ICDS (4) NHM
BOKITE SEFEFED HowoQols HeEo 20 ?
(1) ANM (2) MMU (3) ICDS (4) NHM
142. Autonomous institute under the Department of Biotechnology (DBT)
{1) Central Food Technological Research Institute

(3) Centre for Innovative and Applied Bioprocessi ng
entre tor Cellular and Molecular Biology E

EE00eS &F wd@Brds o (DBT) $of $5abo O re.80% (werdsod gonees) “E@@

(1) dosd DE Ssyonsd b5, adiearses

(2) 20 R DTS §8y gowtaTses
[ (3) 20exd 56 35 \Jedn P @3:2 2330

(4) 200 3O deogo® .

44 (D)
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143. Which International Agreement does not focus on r@dscmg greenhouse gas emissions to combat
climate change ?
(1Y Montreal Protocol {2) Iéqﬁoto Protocol .
(3) Paris Agreement €)) B:gci Convention
EIFE D sosgdab aoso Torsten Srneso X8y

",

E] r od &meq

4

(1) SroplcHd @eS'sS 2) £ PSS
3) 0D adyso (4) _w?oeS £3589

144. Choose the incorrect statement.

(1) CO, is continuously being released because of ﬁwnan activities
R N e

(2) Deforestation 1s decreasing the amount of CO

D1l spillage causes oxygen depiet ]
(4) Burning of plastic reduces the germination of seeds in crop fields
Dy (P8ISS 0588,

SPSS SErare s CO, oo Ao Sobethdod

RSTH ToAD &ERoPek SRoSEoD Sy

,u~~wuwaaeﬁ VOO 0002

(4) "“‘“?ogai) Soyéo 5 Bod 3‘(&)"5@ QT 00 IJ0eTHE0, BIHSood
Tl W
145. Match the following : (Common codes for English &sﬁ‘eiugu Versions) @y@
Waste Type ate Disposal Method %
Organic Waste 1. Incineration
E-waste H Compostmg

Hazardous Waste

o T

Broken glaqs pieces

WQQ GKC
a :30;_6)@13 :Jq < L. %ﬁ“‘jw Eya
b. £-39 I Sorgsness Ly Xod Sardd g
Dosoes (SodReh)
C. [PSorise Sgeres I11. égcg&:i:a Koot Wﬁ&ao {e.“rso&fp&’goﬁ)

d. SADS rrer S
Codes/S*Ges a b
(1} 8 v
2) v, 1
(3) i v
(4) v il i |
45 (D)
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"'fﬂ ':f:-

146. Match List - I with List — I1 and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)

List - I (Pollution) List - II (Pollutant)
. Marble Cancer I. Methane
IL Nickel
II1. Sulphur dioxide and nitrogen dioxide
IV. Chlorohydrocarbons

a %ﬁﬂ
b. Biomagnification [

¢. Green house effect

d. Lung cancer

o — 1 & wdo - 115 3038 $oss cnhS SEesrgsariod
2o -1 (Pene) 2o — 1 (Pesiy s*&ﬁa)

a. ;')3"’(‘5:96‘5 503:6_35 L 208 6& W
b. ©EFSPRIESS 1. 386 '

mE
S

C. e T2 HerSo
d. &880 260

I %6 GarBHE Sooako JESed &
V. §ETESG%

&

Codes/S*Ges : a b ¢ d
I AR s
o 1 IV I
3) nmm 1 W

@ IV m I

147.

Which of the following bioremediation technigues is used to treat oil spills ?

(1) Phytoremediation

(2) Bioaugmentation

(3) Bioventing

(4) Mygoremediation

=
B0 Dodieress B S8 ¥cd DTN SO SIBFA F ik
© 308 T7ed 3&, 0N 3¢5 @

(1) PeSO0AB0S

(2) 23030"@?3 E350

(3) adrSodoh

(4) LTS

148. What can be considered a natural source of air pollution ?
Facto

emissions

(3) Forest fires

) S‘E:OZ)&G

(1) 3556 dngsen

(3) & Soced

46

(2) Power station smoke
(4) Automobilc emissions

oY), S Sa7e0 &0 3D eB5E 2!

(2) 3O

(4) 58 &TCee

(D)
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149. How does In-situ bioremediation differ from ex-situ blohﬁledlatxon ?
(1) It is more expensive and involves transport of comarrimants
(2) Ittreats contammated material dlrectly at the site

g

(4) It requires more excavation EyE
3=t BBIBIEENSG, I8y~ BEIFBAAEHEES S0k PHor I+ &otwod ? %;5,}
(1) 36 e OISO o000 Seodgre ETreroid SOA dotwod
(2) 30 Sore (BEF5D (Dew) 56 EeISIN ST wm:ma
(3) 30 SrEBDHOH wSe0NT BAAHT O MMO&%

(4) B8 30008 B3c¥o eSHBo o

150. Match the following : (Common codes for English & Teiﬁgu Versions)

@ Waste Disposal Method Pros/Cons
2l 5 Landfilling L. Low-cost, but has long-term environmental impact
b. Incineration II. Reduces volume of'waste, but emits pollutants
¢. Composting III. Produces useful by%%"?}bducts like biogas, but requires land
d.  Recycling IV. Conserves resourc&e&mt needs infrastructure
Sgposs FOIO 3B o ogreo 8o 5y s&@é‘ejoc“jw E}i"{i]
Pk (GFyed) 850 ergre/SPes P'%
a. e50&QoR L 855 56, 50 BYsdE S0gS6e Berady $A dotwod
b. &S0 I S5q0 S057erd) SR8, SD Seuy SoTeis doce
Bxo0d
c. ook IIL. m@?msa Soey @o‘%@fﬁcﬁs ST H050 &S S0,
0 20 SN0
d. 628A IV. 53560058 5088308, 570 308 $Eaires eSRso

Codes/S*Een : a b ¢ d
M 0w 1 m

(2) v i m I £
(3) I I m Iv I
4) v Il I i1

47 (D)
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SPACE FOR ROUGH WORK
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